[BRE %K K]
- EX=l= DNA A== CEd 20| 27¥ = AUCh

S
DNA

~2H5 = =245 &
A A€

UHHOI DNA 2% 7HEH0|A
OFClIEl(A) i = EIOIZI(T) =
FOHN(G) T = AFOIEANC) 20|10

=H| 52! DNAS| 0|5 7t A
OfHI'l(A) i = EfO[ZN(T) = + REt(U) H=
TOH(G) 4= = AROJELI(C) IH==OlLt.

S
DNA

~=H & =H =

GC AT ) GC ATU

AT U
E E°

- & A& BF 0|F JtH0M ATU ¥2| & OfHH(A)0] Zeto|H
GC g7 & FOI(G)2 AOIEENC)] = 22 ZHo[Ct

- ATU &7] =§0| 28& HHZ

S
=2

GC ATU

HB 3 HB 2 ]
A A¢

OHHlE! 245 HARICZ E83I0
EFOIZH(T) “HLt |Et(U) HH+E FEZ = UCh

_64_



LE2 Off MZOM =X 2 25 7t DNA2| ¢&

— 3% (°h= DNA X&, (Lhe X7t =X IE o
|

— (LhellM g212] JH= 16007H0| 1
O~0O2 M=z gdE JtHo|ct

- @ LHoM SHEX| 2 FE29 H| e

— (LhollM @2l @21 2t ©2 7| =2l B2 ©2f ¥2| Mot 22,
960|Ct.

©2 G+C g2 40%9l

7:

et

= X2l %7 Jpe

1, @2 G+C A2 60

X 0|

| chet Xt=zOolC,

FE LIEf

el 7H = 57H0ICk,

| 40960]Ct.

5.
" . 3/...
5, T T O T -3 »
3 o 5.
e
b )]
LS FRE TSN
(Tf, SNUHO|= THSIK| UhE=C))
A+T 13
J X = 0olC
1) ChollM GiC- . o|c}.
2) (LhollA EFOIZI(T)S| IH= = 4357H0|Ct,
- 65 - 202654



Schema 3
Tt o|E

(8]

(LhollM SHIER] g2 222 H2| Jhees Xof @21 Mol 40%0/22

(hel X & sHE 222 7] Hes X2 Y21 22l 60%0|Lt.

ESE (LhOIM EXIZIX] 42 BE9| GC BH2 60%0|1
(Ohel X & EH= 229 GC THE 40%0|22

Xe| GC 2 40%2t 60%E 2:322 LiEsH= 48%0]|Ct.

CAIT R 1
G+C 48 12

(LhellM @] &2] == 400700122 AT “H+== 160°H, T ==
(LholM @E Hleleh 222 ¥2| 4= 1200710|122 ATU M=
A == 3602H0ICt. (LhoM @E ALt #20 U= |e

(LhollAl @2 Qs HEol Efo|2I(T) IHas 3557H0]Ct,
(LhollA EFOIRI(T) = 4357H0]CH,

[Bridge - LH&]

9 de2 HAo=2 TNSHH ChHzh 2T

(44 2]

[2I5t 2]
= n%2t m%E a: b2 LiEst= X|E

LhZol 2 3 & 2 2t HIE 2HZ 4oiRle W 8Y + ATk

807HOICt.
= 72074

F(U)2l £ 571022

_66_



